JA @ E(Q;%f&ﬂﬁ'(’é?ﬁ&)%ﬁma INTORIESAEE C—H<EE V. SR F B S ICHL CTRAR RO TEVEL S BEEVOMEOREEE TEMLabh Y
SN

A AR EREREYBVRROBAIR ARETREICEVEEES SR ITENABIET,

+ XUV MIHEITOEERERIAE DI RICR S TR TLRE W RBIRRIAHC LU R PEAG R KEEES SR ITBNDBYET,

cREEBHIUEYGERE THEAEV, ARRIEEPIOMHEFT T AN REEITOTTEEL,

v REE NIV — M L ABICRE I LIRS TN TVET,

WAL RESLUITNTORBO/N\— VT T7OREREDYR—R MEBLICZZADEIICLTEEN,
REENERVRIR IZEAL XV ERLTHD T ELLESICLTREL,
« KURITERIFAAESER T BERIEDHH RSN T ENTVE T NELBFROFOBHEVIBRICRELTLEL,
+ AURISBARAOHZBNELTVE T AMREEN THRATEE BHRDFES PERBEEEITINLHIET,
BE: R[E RIS TERBROT VI UAMNRVLTOBRABFTICHENTHRLEL,
RORYSEVBEPRBROBAIE ZROIH Y, BEFVOMBORIFEELT TTEEEEL,
RFEE: 757y NIRRITEA T 2o BRI (D75<EL 3 nABINFTY I LTIILEL,

To properly balance the arm with monitors mounted, adjust the spring tension using the
supplied Allen Key as follows:

First, position and firmly hold the arm horizontally - W@

as shown. Ask for assistance should you require it. \\ |

If the arm drops, turn the adjustment
screw counter-clockwise until it stays
in a horizontal position.

- +

"~/
If the arm rises, turn the adjustment
screw clockwise until it stays in a

CAUTION: To avoid damage to monitors or horizontal position.

mount, always keep the arm in a horizontal CAUTION:
position while making adjustments. A DO NOT over tighten the screws
Again, ask for assistance if required. .

S+ LE&ET2— VESA BT — Ly
'l;&i@'j_ﬁd)%:g—T—A TV SETTER
RE< =27

REAICHT E=F—LEHDBRETHRCLLEL

AORI—FPORIDESIFR - REDEIBRALEECBVVELLTEY

( mumamess

EZH—HECEHIAO
FIRBANTNT, {F
E=H—HEST Sy FTHEH | VESA AR =

EZ2—BEMLR NG
T=—HEICHHEHIARINOGER B
75X75mm,  100X100mm

HISE=S—A T

13-32

RAEZS—EB
THEICDE

1~9kg

L/

COERBEVWLITFOELEERICHYNES ZENET,

LMD | Y(ARKI)BABERATLES BEICHFETNIEIRERETT,

LU RS - YT OFRBICKDEMICDONTRIER ST VWERADT AEEICELEL TR
TRICTEBSLEENWETIOBEORAL EIFET,

HIAIAR - RUATARR. BLUVRKFICKDEH - BECDOVTII.
—VIDRIEFZCETVWEBADT, ZTHESLESL,

- REMETNICEEL. REPICEHCBEICFIEM/FDIBOENLSEET S,

CREICHEO T, THRERAR-IEEEL TS,

cHUMITIHRF2RBULETITS CL2M<SHEVELET,

- B FARLUANATOCER. BROBEFELENTILEEL,

CREFICOLTHBARERCLIGEE. EEETHL. BESORERE - EREFCITAHK
SFEELN,

HRICETAHRBVEDY 1 0422-38-4912 =8510:00~18:00 (- B-#7<)

RESTT AR—SSFFHtest T180-0006 RRIHEFHHE2-2-2 21 X AHEESF
https:/starplatinum.co.jp/

10

fmmmm e e e e ]

Note: If the display does not stop at
your desired position, tighten the
screws as shown.

®



g G

M-A (x4) M-B (x4)
M4x12 M4x16
( ) il S §
M-C (x4) M-D (x4)
B (x2) C (x1) D (x1) E (x1) M5x12 M5x16

= L % M) M@)

D5

F (x1) G (x1) H (x1) 1 (x2) J (x3) K (x1) L (x1) M (x1) “
M6x16 4mm 6mm

WARNING:

1. Firmly hold the two halves of the spring arm
together and have another person cut Off the
cable tie from around the spring arm.

2. Slowly release the pressure on the spring arm
and allow it to gradually stretch to its full extension.

5

Desktop with Existing Through-Hole.

210-60mm ——

10-40mm (-]

O@=0

o
X T

Too long  Too Short

0
-—--((O)-\ O-4-
3
m

_____________________________________

45%
=

9/ (i\_\

/1




